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Axigwer any five questions
h All Guestions carry équal marks ’ T
.la)  Compare the database system with file system. ‘
f-~:: b) What is méaﬁt by storage manager‘7 Dlschs&about DML NEs Ty
2. Construct an E-R diagram for a car-insurance company that has a set of
customers, each of whom owns one or more cars. Each car has associated with it
zero to any number of record accidents. [15]
3 State varmus fundamenfal operatlons in the relatlonal al’geb"r‘a and explam them
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with suitable examples. [15]

4.a)  Explain the logical connectivities in the SQL.

b)  Discuss about complex integrity constraints in SQL triggers. [15]
s Explam..solearly the 1oilass join décéﬁihposﬂmn aépgndency presé‘r\'fing
decomposition. Give suitable example to each of them. [15]

6. Explain the lock based protocols and time stamp based protocols. [15]
~7:7: Discuss clearly about: reecsvery with : p_ongurrent trangaquns Give :suitdble
wen' ¥ example ¥ Ay PO [15]‘

8.a)  Discuss about indexed sequential access methods.

b)  Compare the hash based indexing and tree based indexing. [15]
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